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GENERAL INSTRUCTIONS 

For Part A
Question numbers 1 to 8 are of 3 marks each

Questions number 9 to 15 are of 4 marks each
Questions number 16 to 18 are of 6marks each 

For Part C
Question numbers 19 to22 are of 3 marks each

Questions number 23 to 25 are of 4 marks each
Questions number 26 is of 6 marks 
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PART A
1. If A= 
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, verify that 
[image: image2.wmf]2

720

AAI

--=


2. Using properties of determinants, prove that
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3. Five marbles are drawn from a bag which contains 7 blue marbles and 4 black marbles. What is the probability that      (i) all will be blue
(ii) 3 will be blue and 2 black.

4. Probabilities of solving a specific problem independently by A and B are 
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and 
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respectively. If both try to solve the problem independently, find the probability that the problem is solved.
5. E valuate 
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6. Evaluate  
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7. Find a two-parameter family of solutions of 
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8. Solve the differential equation:   
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9. Simplify The circuit:       
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10. Evaluate: 
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11. Differentiate 
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from first principle.
12. If
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13. Discuss the applicability of Rolle’s Theorem of: 
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14. Evaluate 
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15. Evaluate 
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16. Solve the system of equations Using matrices:
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17. Show that semi-vertical angle of right circular cone of given curved surface area and maximum volume is 
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18. Find the area bounded by the curve 
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and the straight line
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PART-C
19. A bill of Rs. 5,300, drawn on 16th January, 2003 for 8 months was discounted on 12th February, 2003 at 10% per annum. Find the banker's gain and discounted value of the bill.
20. A bill of Rs 8000 at 6 months was discounted for Rs. 7904 on 10th Aug at 6%pa. When was bill drawn? 
21. A pair of dice is thrown 7 times. If getting a total of 9 is considered a success, what is the probability of at most 6 successes?
22. There are two bags I and II. Bag I contains 2 white and 3 red balls and bag II contains 4 white and 5 red balls. One ball is drawn at random from one of the bags and is found to be red. Find the probability that it was drawn from bag II.

23. A and B are partners sharing profit and loses in the ratio 5:3.C pays Rs 96,000 as premium for the good will of the business and is admitted for one fifth share. Show how this amount will be shared by A and B; Find also the new profit sharing ratio.
24. A plans to buy a new flat after 5 years, which will cost him Rs. 5,52,000. How much money should he deposits annually to accumulate this amount, if he gets interest 5% per annum compounded annually? [
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]
25. The cost and demand function of a firm is 
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 where C is the cost, p is price and x is level of output. Find out the profit maximum output and price.

26. A man has Rs 1500 for purchase of rice and wheat. A bag of rice and a bag of wheat cost Rs. 180 and Rs.120, respectively.He have storage capacity of 10 bags only. He earns a profit of Rs 11 and Rs 9 per bag of rice and wheat, respectively. Formulate a Linear programming problem to maximize the profit and solve it Graphically
Best  of Luck  for Your Exams
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